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SUERIHhD T inZhEEd 51 i SMERIHR
*;Eg TREOBBOEILNOKRES ITREOHBEEILNOKRES TREOBEOEILADKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
’ 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
9 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
3 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
5 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
6 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ B -~ = = =
s 1.00{ 0.00 ~ 497 61.91| ZhLlst | 000 ~ 497| 2.03 10.86 s 1.00f 500 ~ 6.20 61.91 Zzhlst | 500 ~ 6.20[ 2.03 10.86
7 100kN/m##8 %% 1.00]0.00 ~ 3.21 151.41|3m%# %% 0.00 ~ 0.28 3.16 16.88| 100kN/m#%#B 2% 1.00{ 10.64 ~ 27.94 151.41|3m%x#8% %] 25.00 ~ 27.94| 3.16 16.88
s 1.00{ 3.21 ~ 11.00 100.00f Z=hkl4t |0.28 ~ 11.00] 3.00 16.05 st 1.00f 5.00 ~ 10.64 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
8 100kN/m##8 %% 1.00{ 0.00 ~ 2093 146.45|3m%x# %% 0.00 ~ 0.54 3.33 17.83| 100kN/m#%#B 2% 1.00{ 11.26 ~ 25.63 146.45| 3m%*x#8% %] 25.00 ~ 25.63| 3.33 17.83
s 1.00]2.93 ~ 10.71 100.00f Z=h k4t | 0.54 ~ 10.71] 3.00 16.05 st 1.00f 500 ~ 11.26 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 3.24 151.86|3m%x# %% 0.00 ~ 0.95[ 3.62 19.35| 100kN/m#%#8 2% 1.00{ 12.29 ~ 33.65 151.86| 3m%*x#% %| 20.00 ~ 33.65| 3.62 19.35
s 1.00{3.24 ~ 11.03 100.00f Z=h k9t | 0.95 ~ 11.03] 3.00 16.05 s 1.00f 500 ~ 12.29 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
10 100kN/m##8% % 1.00{ 0.00 ~ 3.26 152.25|3m%x# %% 0.00 ~ 0.91| 3.58 19.17| 100kN/m#%#8 2% 1.00{ 1204 ~ 32.80 152.25|3m%*x#% %] 20.00 ~ 32.80| 3.58 19.17
s 1.00{3.26 ~ 11.05 100.00f Z=h k4t | 0.91 ~ 11.05] 3.00 16.05 st 1.00f 500 ~ 12.04 100.00f Z=hkl4t+ | 5.00 ~ 20.00f 3.00 16.05
11 100kN/m##8% % 1.00{ 0.00 ~ 3.68 159.71| 3m%# %% 0.00 ~ 0.70[ 3.42 18.29| 100kN/m#%#B 2% 1.00{ 11.11 ~ 37.06 159.71| 3m%x# % %| 25.00 ~ 37.06| 3.42 18.29
s 1.00| 3.68 ~ 1147 100.00f Zh k4t |0.70 ~ 11.47| 3.00 16.05 st 1.00f 500 ~ 11.11 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
12 100kN/m##8% % 1.00{ 0.00 ~ 3.66 159.36|3m%x# %% 0.00 ~ 0.47| 3.26 17.43| 100kN/m#%#B 2% 1.00{ 10.62 ~ 37.11 159.36| 3m%x#8 % 5| 25.00 ~ 37.11| 3.26 17.43
s 1.00] 3.66 ~ 11.45 100.00f Zhklst | 0.47 ~ 11.45] 3.00 16.05 s 1.00f 5.00 ~ 10.62 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
13 100kN/m##8% % 1.00{ 0.00 ~ 3.56 157.47|3m%x# %% 0.00 ~ 0.48| 3.27 17.49| 100kN/m#%#B 2% 1.00{ 10.64 ~ 34.00 157.47| 3m%x#8% 5| 25.00 ~ 34.00| 3.27 17.49
ZHnLs 1.00{ 3.56 ~ 11.34 100.00f Zhlst | 0.48 ~ 11.34| 3.00 16.05 s 1.00f 5.00 ~ 10.64 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
14 100kN/m##8% % 1.00{ 0.00 ~ 3.62 158.57|3m%x#%%|0.00 ~ 0.50( 3.28 17.56| 100kN/m#%#B 2% 1.00{ 10.66 ~ 35.33 158.57| 3m*x#8% %] 25.00 ~ 35.33| 3.28 17.56
s 1.00{ 3.62 ~ 11.40 100.00f Z=hkl9t | 0.50 ~ 11.40] 3.00 16.05 s 1.00f 5.00 ~ 10.66 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
15 100kN/m##8% % 1.00{ 0.00 ~ 3.52 156.73| 3m%x# %% 0.00 ~ 0.41| 3.22 17.25| 100kN/m#%#8 2.5 1.00{ 10.57 ~ 34.00 156.73| 3m%x#8% 5| 25.00 ~ 34.00| 3.22 17.25
ZTh st 1.00{ 3.52 ~ 11.30 100.00| Zh 9t | 041 ~ 11.30] 3.00 16.05 s 1.00f 5.00 ~ 10.57 100.00| Zh kst | 5,00 ~ 25.00( 3.00 16.(§
=EFR
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16 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ B -~ = = =
Zh Lot 1.00/ 0.00 ~ 6.42 80.84| #h L5t |0.00 ~ 6.42| 2.08 11.15 Zn st 1.00] 5.00 ~ 943 80.84| ZhnLls | 500 ~ 9.43| 2.08 11.15
17 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
ZhList 1.00/0.00 ~ 7.78 99.87| #hbLlst |0.00 ~ 7.78] 2.36 12.66 st 1.00| 5.00 ~ 11.08 99.87| #hl4t | 500 ~ 11.08] 2.36 12.66
18 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
ZhnList 1.00/0.00 ~ 228 30.76] #hLlst |0.00 ~ 2.28| 2.62 14.04 st 1.00| 5.00 ~ 6.01 30.76] Znklst | 500 ~ 6.01 2.62 14.04
- 100kN/ Mm% 2 % 1.00/0.00 ~ 2.46 138.45|3m%E#BZ 5| - ~ = - —| 100kN/MZ#% % 1.00| 10.55 ~ 20.78 138.45|3m%E#82 % -~ = = =
ZhnList 1.00| 2.46 ~ 10.24 100.00f x5t [ 0.00 ~ 10.24 2.75 14.72 st 1.00| 5.00 ~ 10.55 100.00f Zhkust | 500 ~ 20.78| 2.75 14.72
i 100kN/ Mm% 2 % 1.00/0.00 ~ 3.44 155.36(3m%#8% 5| 0.00 ~ 0.80[ 3.49 18.70| 100kN/m%# %% 1.00| 11.50 ~ 33.33 155.36( 3m%E#EZ 5[ 25.00 ~ 33.33| 3.49 18.70
ZnList 1.00| 3.44 ~ 11.22 100.00( x5t [0.80 ~ 11.22( 3.00 16.05 st 1.00] 5.00 ~ 11.50 100.00f Zhkust | 5.00 ~ 25.00| 3.00 16.05
o 100kN/m%# 2 % 1.00/0.00 ~ 3.85 162.63|3m%E#E%5(0.00 ~ 1.64| 3.88 20.74| 100kN/mM%Z#BZ % 1.00| 10.84 ~ 42.00 162.63| 3m%E#EZ 5[ 25.00 ~ 42.00| 3.88 20.74
Zn Lot 1.00/ 3.85 ~ 11.63 100.00f Z#h st [1.64 ~ 11.63] 3.00 16.05 st 1.00| 5.00 ~ 10.84 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
> 100kN/ Mm% 2 % 1.00/0.00 ~ 3.87 163.14|3m%E#E%5(0.00 ~ 181 4.02 21.51| 100kN/mM%#Bz % 1.00| 11.35 ~ 45.28 163.14|3m%E#EZ 5[ 25.00 ~ 45.28| 4.02 21.51
ZnList 1.00| 3.87 ~ 11.66 100.00( Z#hlust [1.81 ~ 11.66 3.00 16.05 FhLst 1.00| 5.00 ~ 11.35 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
. 100kN/m%# 2 % 1.00/ 0.00 ~ 3.59 158.03|3m%#8%5(0.00 ~ 198 4.18 22.39| 100kN/mM%#BZ % 1.00| 12.25 ~ 42.00 158.03| 3m%E#EZ 5[ 20.00 ~ 42.00| 4.18 22.39
ZnList 1.00| 359 ~ 11.37 100.00( Zhlust [1.98 ~ 11.37[ 3.00 16.05 st 1.00] 5.00 ~ 12.25 100.00f x5t | 5.00 ~ 20.00| 3.00 16.05
o 100kN/m%#B 2 % 1.00/ 0.00 ~ 4.00 165.51|3m%E#8%5%(0.00 ~ 255 4.30 23.00( 100kN/ Mm%z % 1.00| 10.88 ~ 51.93 165.51|3m%E#EZ 5[ 25.00 ~ 51.93| 4.30 23.00
ZhnList 1.00| 400 ~ 11.79 100.00( Zhlust [ 255 ~ 11.79[ 3.00 16.05 FhLst 1.00| 5.00 ~ 10.88 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
. 100kN/ Mm% 2 % 1.00/0.00 ~ 3.91 163.75|3m%E#E% 5[ 0.00 ~ 234 4.11 22.02| 100kN/M%#Bz % 1.00| 10.56 ~ 58.00 163.75| 3m%E#EZ 5| 25.00 ~ 58.00| 4.11 22.02
ZhList 1.00/ 3.91 ~ 11.69 100.00( Zhlust [2.34 ~ 11.69[ 3.00 16.05 FhLst 1.00| 5.00 ~ 10.56 100.00f Zhkust | 5.00 ~ 25.00| 3.00 16.05
50 100kN/ Mm% 2 % 1.00/0.00 ~ 3.85 162.73|3m%E#8%5%(0.00 ~ 1.50[ 3.76 20.14| 100kN/M%#BZ % 1.00| 10.60 ~ 46.00 162.73| 3m%E#EZ 5| 25.00 ~ 46.00| 3.76 20.14
ZhList 1.00/3.85 ~ 1164 100.00( Zh st [1.50 ~ 11.64 3.00 16.05 st 1.00| 5.00 ~ 10.60 100.00f Zhklst | 5.00 ~ 25.00| 3.00 16.05
5 100kN/m%# 2 % 1.00/0.00 ~ 3.93 164.25(3m%E#E%5(0.00 ~ 235 4.12 22.08| 100kN/mM%#BZ % 1.00| 10.57 ~ 61.43 164.25|3m%E#EZ 5[ 25.00 ~ 61.43| 4.12 22.08
Zh Lot 1.00/3.93 ~ 11.72 100.00( Zhlust [2.35 ~ 11.72[ 3.00 16.05 FhLst 1.00| 5.00 ~ 10.57 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
o 100kN/m%#B 2 % 1.00/0.00 ~ 3.91 163.76|3m%E#E% 5[ 0.00 ~ 234 4.11 22.00| 100kN/M#%#Bz % 1.00| 10.56 ~ 59.80 163.76| 3m%E#EZ 5| 25.00 ~ 59.80| 4.11 22.00
Zh Lot 1.00/ 3.91 ~ 11.69 100.00( Zhlust [2.34 ~ 11.69[ 3.00 16.05 st 1.00| 5.00 ~ 10.56 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
i 100kN/ Mm% 2 % 1.00/0.00 ~ 3.91 163.81|3m%E#E%5(0.00 ~ 233 4.11 21.98| 100kN/M%#Bz % 1.00| 10.55 ~ 61.95 163.81|3m%E#EZ 5| 25.00 ~ 61.95| 4.11 21.98
Zh Lot 1.00/3.91 ~ 11.70 100.00( Zhlust [2.33 ~ 11.70[ 3.00 16.05 st 1.00| 5.00 ~ 10.55 100.00f x5t | 5.00 ~ 25.00| 3.00 16.05
31 100kN/m%#B 2 % 1.00/ 0.00 ~ 4.01 165.56(3m%E#8% 5| 0.00 ~ 245 4.20 22.49| 100kN/mM%#BZ % 1.00| 10.67 ~ 58.98 165.56| 3m%E#EZ 5[ 25.00 ~ 58.98| 4.20 22.49
ZnList 1.00| 401 ~ 11.79 100.00| ZhList | 245 ~ 11.79] 3.00 16.05 st 1.00| 5.00 ~ 10.67 100.00f Zxblst | 500 ~ 25.00] 3.00 16.05|
=EFR
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32 100kN/m##8% % 1.00]0.00 ~ 3.91 163.80| 3m*x#% %] 0.00 ~ 241 4.17 22.30| 100kN/m#%#8% % 1.00{ 10.62 ~ 50.00 163.80| 3m%*#% 5| 25.00 ~ 50.00| 4.17 22.30
s 1.00{3.91 ~ 11.70 100.00f Zhlst | 241 ~ 11.70] 3.00 16.05 s 1.00f 5.00 ~ 10.62 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
33 100kN/m##8 %% 1.00{ 0.00 ~ 295 146.88| 3m*x# %% 0.00 ~ 0.06( 3.03 16.22| 100kN/m#%#B 2% 1.00{ 10.71 ~ 30.47 146.88| 3m*x#% %| 30.00 ~ 30.47| 3.03 16.22
s 1.00{2.95 ~ 10.74 100.00f Z=hLl9t | 0.06 ~ 10.74| 3.00 16.05 s 1.00f 500 ~ 10.71 100.00f Z=hkl4t+ | 5.00 ~ 30.00f 3.00 16.05
a4 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00{0.00 ~ 5.07 63.16] ZhLlst |0.00 ~ 507| 1.68 9.00 s 1.00f 500 ~ 543 63.16) =hLlst | 500 ~ 543| 1.68 9.00
35 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
s 1.00{0.00 ~ 7.00 88.73| #n L4t |0.00 ~ 7.00] 2.63 14.09 s 1.00f 500 ~ 11.56 88.73| =nLst | 500 ~ 11.56| 2.63 14.09
36 100kN/m##8 %% 1.00{ 0.00 ~ 0.60 108.88| 3m%x#82x 5% ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.06 ~ 12.77 108.88| 3m%x#B8 =25 =l ~ - - =
s 1.00/ 0.60 ~ 8.38 100.00f Z=hki4t | 0.00 ~ 8.38] 2.36 12.62 s 1.00f 5.00 ~ 11.06 100.00f Zhlst | 5.00 ~ 12.77| 2.36 12.62
37 100kN/m##8 %% 1.00{0.00 ~ 3.79 161.60| 3m%#% %] 0.00 ~ 1.60] 3.84 20.56| 100kN/m#%#8% % 1.00{ 10.75 ~ 40.05 161.60| 3m#*x#% 5| 25.00 ~ 40.05| 3.84 20.56
s 1.00{ 3.79 ~ 1157 100.00| #+# kst | 1.60 ~ 11.57| 3.00 16.05 s 1.00f 5.00 ~ 10.75 100.00f Zhl4t+ | 5.00 ~ 25.00( 3.00 16.05
38 100kN/m##8 %% 1.00{ 0.00 ~ 3.49 156.27| 3m%x# %% 0.00 ~ 0.50( 3.28 17.56| 100kN/m#%#8 2% 1.00{ 10.67 ~ 32.37 156.27| 3m%x#8% %] 25.00 ~ 32.37| 3.28 17.56
s 1.00{3.49 ~ 11.28 100.00f Z=h k4t | 0.50 ~ 11.28] 3.00 16.05 st 1.00f 5.00 ~ 10.67 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
39 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ D -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Zh st -~ = = =
40 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
A1 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = FhLst = -~ = -| Zh st -~ = = =
42 100kN/mM%#BZ 5 -l -~ = -|3mEBZ S -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
43 100kN/mM%#BZ % -l -~ = -|3mEBZ 5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Zh st -~ = = =
a4 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Zh st -~ = = =
45 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Zh st -~ = = =
46 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ D -~ = = =
zh st -l -~ - -| Fhiist -~ - - = st - -~ - -| Zh st -~ = = =
=EFR
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47 100kN/mM%#BZ 5% -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
48 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = st = -~ = -| Fhiist -~ = = =
49 100kN/m##8 %% 1.00{ 0.00 ~ 2.96 146.96| 3m*x# %% 0.00 ~ 0.06( 3.03 16.21| 100kN/m#%#8 2% 1.00{ 10.53 ~ 26.30 146.96| 3m%x#8% 5| 25.00 ~ 26.30| 3.03 16.21
s 1.00{2.96 ~ 10.74 100.00f Z=hLl9t | 0.06 ~ 10.74| 3.00 16.05 s 1.00f 5.00 ~ 10.53 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
50 100kN/m##8 %% 1.00{ 0.00 ~ 3.03 148.20| 3m%#%%| 0.00 ~ 0.21|] 3.11 16.67| 100kN/m#%#B 2% 1.00{ 10.57 ~ 25.91 148.20| 3m%# % 5| 25.00 ~ 2591 3.11 16.67
s 1.00] 3.03 ~ 10.81 100.00f Z=hklst | 0.21 ~ 10.81] 3.00 16.05 s 1.00f 5.00 ~ 10.57 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
51 100kN/m##8 %% 1.00{ 0.00 ~ 3.00 147.74| 3m%x# %% 0.00 ~ 0.48( 3.29 17.61| 100kN/m#%#B 2% 1.00{ 11.07 ~ 25.91 147.74| 3m%x#8 % %] 25.00 ~ 2591| 3.29 17.61
s 1.00{ 3.00 ~ 10.79 100.00f Z=hLl9t | 0.48 ~ 10.79] 3.00 16.05 s 1.00f 500 ~ 11.07 100.00f Z=hkl4t+ | 5.00 ~ 25.00( 3.00 16.05
52 100kN/m##8 %% 1.00{0.00 ~ 2.06 131.95|3m%# %% 0.00 ~ 0.18 3.13 16.76| 100kN/m#%#B 2% 1.00( 1257 ~ 21.88 131.95|3m%*x#% %] 20.00 ~ 21.88| 3.13 16.76
s 1.00{2.06 ~ 9.85 100.00f Zhkl4t | 0.18 ~ 9.85| 3.00 16.05 s 1.00f 500 ~ 1257 100.00f Z=hl4t+ | 5.00 ~ 20.00f 3.00 16.05
53 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
54 100kN/m##8 %% 1.00| 0.00 ~ 3.81 161.92| 3m%x# %% 0.00 ~ 1.51| 3.77 20.19| 100kN/m#%#8% % 1.00{ 10.61 ~ 42.84 161.92| 3m%x#% 5| 25.00 ~ 42.84| 3.77 20.19
s 1.00{ 3.81 ~ 11.59 100.00| #+# kst | 1.51 ~ 11.59| 3.00 16.05 st 1.00f 5.00 ~ 10.61 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
55 100kN/m##8 %% 1.00{ 0.00 ~ 3.90 163.68| 3m%#%%| 0.00 ~ 1.55| 3.80 20.35| 100kN/m#%#8% % 1.00{ 10.67 ~ 47.20 163.68| 3m*x#8% 5| 25.00 ~ 47.20| 3.80 20.35
s 1.00{3.90 ~ 11.69 100.00| #+list | 155 ~ 11.69| 3.00 16.05 s 1.00f 5.00 ~ 10.67 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
56 100kN/m##8% % 1.00{ 0.00 ~ 343 155.13| 3m%x# %% 0.00 ~ 2.02 3.88 20.77| 100kN/m#%#8% % 1.00{ 10.70 ~ 82.00 155.13| 3m#*# % %| 30.00 ~ 82.00| 3.88 20.77
s 1.00] 343 ~ 11.21 100.00f Zhlst |2.02 ~ 11.21] 3.00 16.05 st 1.00f 5.00 ~ 10.70 100.00f Z=hl4t+ | 5.00 ~ 30.00f 3.00 16.05
57 100kN/m##8% % 1.00{ 0.00 ~ 3.99 165.21|3m%#% %] 0.00 ~ 2.37| 4.14 22.15| 100kN/m#%#8% % 1.00{ 10.58 ~ 84.44 165.21|3m%x#8% 5| 25.00 ~ 84.44| 4.14 2215
s 1.00{3.99 ~ 11.77 100.00f Zhlst | 2.37 ~ 11.77] 3.00 16.05 st 1.00f 5.00 ~ 10.58 100.00f Z=hl4t+ | 5.00 ~ 25.00( 3.00 16.05
58 100kN/mM%#BZ % -l -~ = -|3mEBZ 5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ B -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
5o 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mEBZ 5 -~ = = =
zh st -l -~ = -| Fhiist -~ = = = st = -~ = -| Fhiist -~ = = =
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZFhLst ~ |
=EFR




